Unit 4b Study Guide
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Which fraction and decimal pair is equivalent?
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| The shaded part of the model below represents the fraction %

Write the fraction as a decimal.
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The number line below shows 1 whole divided into tenths. Write numbers in
the boxes to label the missing fractions and decimals.
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Choose >, <, or = to compare each pair of numbers.

> < =
19.657 [] 1967 ® ® ©
5421 [ ] 54 ® ® ®
7024 [_] 70.240 €} ® @
45386 || 45.368 ® ® ©





image8.png
Match the word form of each number to the correct decimal.

a. three and fifty-four thousandths 3,540
b. three and five hundred four thousandths 0.354
c. three and five hundred forty thousandths 3.540
d. three hundred fifty-four thousandths 305.40
3.504
305.04

3.054
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Tyler's coin weighs two hundred thirty-one thousandths
of an ounce.

Which expressions correctly represent the weight of the coin?
Choose all the correct answers.
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Ms. Santos makes a wire sculpture. Each piece of wire is about 6.6 inches long.
Before using a piece of wire, she rounds the length to the nearest tenth of an inch.

Decide if each length rounds to 6.6 inches.

Choose Yes or No for each length.
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Samantha ran 10 days last month. The distances she ran are shown in the line
plot below. How many days did Samantha run less than Sg miles?
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Use the line plot in problem 1. What is the difference in length between the
longest and shortest distances Samantha ran?
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Decide if each equation is true. Choose True or False for each equation.
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Amy buys of a pound of cheese. Alex buys of a pound of cheese.

100

Which model represents the amount of cheese that Amy and Alex
buy altogether?
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Marcus plants daffodils i ing of his garden and sunflowers i in750 of his garden.

Which expressions show how to find the total fraction of the garden in which
Marcus plants daffodils and sunflowers? Choose all the correct answers.
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